
CHEMISTRY

BOOKS - MARVEL CHEMISTRY (HINGLISH)

CHEMICAL KINETICS

Mcqs

1. The branch of chemistry which deals with the reaction rates and

reaction mechanism is called

A. Thermochemistry

B. Photochemistry

C. Analytical chemistry

D. Chemical Kinetics

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ipByPck71rv5


Answer: D

Watch Video Solution

2. Which of the following theory is not related to the chemical

kinetics?

A. Collision theory

B. Activated complex theoruy

C. Absolute reaction rate theory

D. VSERP theory

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ipByPck71rv5
https://dl.doubtnut.com/l/_C1ZdiTCsFCt6


3. Under a given set of experimental condition, with increase in the

concentration of the reactants, the rate of a chemical reaction :

A. decreases

B. increases

C. remains unaltered

D. first decreases and then increases

Answer: B

Watch Video Solution

4. In the elementary reaction  , if the concentration A

and B is doubled , the rate of reaction will

A. Be doubled

B. Be halved

A + B → AB

https://dl.doubtnut.com/l/_MH8zcbB0gxSe
https://dl.doubtnut.com/l/_jgfdoLjYZMYA


C. Increase bu 6 times

D. Incrase by 4

Answer: D

Watch Video Solution

5. During the course of a chemical reaction the rate of reaction

A. cannot be predicted

B. decreases as the reaction proceeds

C. Increase as the proceeds

D. remains constant throughout the reaction

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jgfdoLjYZMYA
https://dl.doubtnut.com/l/_t3oL6yDOdAFn
https://dl.doubtnut.com/l/_qptFvs08UkFH


6. Rate of a reaction

A. increases with increases in temperature

B. decreases with increases in temperature

C. does not depend on temperature

D. Does not depend on concentration

Answer: A

Watch Video Solution

7. For a chemical reaction  if the rate of disappearance

of A is 0 .5 mol  per hour , the rate of disappearance of B is

A. 

B. 

C. 

A + 2B → C

dm− 3

0.25moldm− 3hr− 1

0.5moldm− 3hr− 1

1moldm− 3hr− 1

https://dl.doubtnut.com/l/_qptFvs08UkFH
https://dl.doubtnut.com/l/_51AsvkMxybYu


D. 

Answer: C

Watch Video Solution

2moldm3hr− 1

8. A catalyst can

A. shift the equilibrium of a reaction

B. diminish the enthalpy of a reaction

C. diminish the activation energy of a reaction

D. increases the rate constant of the forward reaction without

changing that of the reverse reaction

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_51AsvkMxybYu
https://dl.doubtnut.com/l/_6irFdiQB4dgD
https://dl.doubtnut.com/l/_cfEiJSI3yIXl


9. The rate of a chemical reaction depends on

A. Atomic Mass

B. Equivalent Mass

C. Molecular Mass

D. Active Mass

Answer: D

Watch Video Solution

10. In the reaction  the rate of consumption of

reactant A is

A. Half of the consumption rate of B

B. Equal to the consumption rate of B

C. Twice to the consumption rate B

2A + B → A2B

https://dl.doubtnut.com/l/_cfEiJSI3yIXl
https://dl.doubtnut.com/l/_KGU8eG2ALyYG


D. equal to the rate of formation of  B

Answer: C

Watch Video Solution

A2

11. For the reaction  rate is expressed as

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2SO3 → 2SO2 + O2
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https://dl.doubtnut.com/l/_KGU8eG2ALyYG
https://dl.doubtnut.com/l/_s8b5DwJjAXCY


12. On increasing the temperature by 10K, the rate of reaction

becomes double. Which of the following is the most appropriate

reason?

A. Collision frequency increases

B. activation energy decreases by increases in termperature

C. The fraction of molecules having energy equal to threshold

enregy or more increase

D. the value of threshold energy decreases

Answer: C

Watch Video Solution

13. For  change if the volume of the reaction

vessel is doubled , the rate of the reaction

2NO + O2 → 2NO2

https://dl.doubtnut.com/l/_p5coLNArwzLy
https://dl.doubtnut.com/l/_zFiFNGhqUFjK


A. Will diminsh to 1/4 of initial value

B. Will diminsh to 1/8 of initial value

C. Will grow 4 times

D. will grow 8 times

Answer: B

Watch Video Solution

14. For the reaction  rate and rate constant are

 respectively then the

concentration of  at that time will be

A. 

B. 

C. 

D. 

2N2O5 → 4NO2 + O2

1.22 × 10− 4 and 3.4 × 10− 5S − 1

N2O5

1.732

3.5

1.02 × 10− 4

3.4 × 105

https://dl.doubtnut.com/l/_zFiFNGhqUFjK
https://dl.doubtnut.com/l/_qiO1nhC2TsMI


Answer: B

Watch Video Solution

15. A foreign substance that increases the speed of a chemical

reacting is called

A. Inhibitor

B. Promoter

C. Moderator

D. Catalyst

Answer: D

Watch Video Solution

16. Which of the following does not affect the rate of reaction?

https://dl.doubtnut.com/l/_qiO1nhC2TsMI
https://dl.doubtnut.com/l/_5AAGIvB9ZF0N
https://dl.doubtnut.com/l/_S911j5WVv5Ij


A. amount of the reactants taken

B. physical state of the reactants

C. of reaction

D. Size of the vessel

Answer: C

Watch Video Solution

ΔH

17. Oxalic acid is oxidised by a acidified  as follows: 


 


The rate of this reaction increases with time because

A.  formed escapes

B. of presence of sulphuric acid 

C. Of formation of  which acts an anto catalyst

D.  is a strong oxidizing agent

KMnO4

2MnO
−
4 + 16H + + 5C2O

2 −
4 → 2Mn2 + + 10CO2 + 8H2O

CO2

[H + ]

Mn2 +

KMnO4

https://dl.doubtnut.com/l/_S911j5WVv5Ij
https://dl.doubtnut.com/l/_RvMHCj8yrCYj


Answer: C

Watch Video Solution

18. The Activation energy for a chemical reaction mainly depends upon

A. temperature

B. nature of reacting species

C. collision frequency

D. concentration of reactants

Answer: B

Watch Video Solution

19. Energy of activation of an exothermic reaction reaction is _____.

https://dl.doubtnut.com/l/_RvMHCj8yrCYj
https://dl.doubtnut.com/l/_mzK2omWouiOD
https://dl.doubtnut.com/l/_KRu7vngiOcJ0


A. zero

B. negative

C. positive

D. can't be predicted

Answer: C

Watch Video Solution

20. In many reaction the reaction proceeds in a sequence of steps so

the over all rate is determined by

A. order of different steps

B. slowest step

C. molecular step

D. Fastest step

https://dl.doubtnut.com/l/_KRu7vngiOcJ0
https://dl.doubtnut.com/l/_VqYbIRkoPlXP


Answer: B

Watch Video Solution

21. Which of the following rate expression does not represent the rate

of the reaction ? 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2N2O5 ( g ) → 4NO2 ( g ) + O2 ( g )
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https://dl.doubtnut.com/l/_VqYbIRkoPlXP
https://dl.doubtnut.com/l/_3L60A83Ylqp2


22. The effect of catalyst in a chemical reaction is to lower the

A. Heat of reaction

B. equilibrium concentration

C. activation energy

D. concentration of reactants

Answer: D

Watch Video Solution

23. A biological Catalyst is

A. An amino acid

B. a carbohydrate

C. A nitrogen molecule

D. an enzyme

https://dl.doubtnut.com/l/_E7SWBYDidSvL
https://dl.doubtnut.com/l/_QOp5vO4i55IM


Answer: D

Watch Video Solution

24. A catalyst

A. Increases the average kinetic energy of reacting molecule

B. Increases the activation energy

C. Alters the reaction mechanism

D. increases the frequency of collision of reacting species

Answer: C

Watch Video Solution

25. The rate of chemical reaction is directly proportional to

https://dl.doubtnut.com/l/_QOp5vO4i55IM
https://dl.doubtnut.com/l/_AetDdu6unoNa
https://dl.doubtnut.com/l/_3C9BiTdYmSgS


A. Active Masses of reactand

B. Equilibrium constant

C. Active masses of product

D. Pressure

Answer: A

Watch Video Solution

26.  for the reaction instant rate of reaction is `

A. 

B. 

C. 

D. 

Answer: B

2A + B → 3C
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https://dl.doubtnut.com/l/_3C9BiTdYmSgS
https://dl.doubtnut.com/l/_Rjv9iVgfGLt7


Watch Video Solution

27. For the reaction of . Which of the following

statements is correct ?

A. The rate of formation of C and D are equal

B. The rate of formation of D is one half the rate of consumption

of A

C. The rate of appearance of C is one half the rate of

disappearance of B

D. The rate of disappearance of B is one fourth of the rate of

disappearance of A

Answer: D

Watch Video Solution

4A + B → 2C + D.

https://dl.doubtnut.com/l/_Rjv9iVgfGLt7
https://dl.doubtnut.com/l/_WAMqme4uw0rA
https://dl.doubtnut.com/l/_khz9sjQZW4KA


28. Number of moles of a substance present in one litre volume is

known as

A. Activity

B. Molar concentration

C. Mole fraction

D. Molality

Answer: B

Watch Video Solution

29. Minimum energy required for molecules to react is called :

A. Potential energy

B. concentration of product

C. time

https://dl.doubtnut.com/l/_khz9sjQZW4KA
https://dl.doubtnut.com/l/_zCVuWkjDDhir


D. activation energy

Answer: D

Watch Video Solution

30. For the following chemical reaction  the expression of

equilibrium constant will be

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x + y ⇔ Z

Kc =
[x]

2
[Y ]

Z

kc =
[x][y]2

[Z]

kc =
[Z]

[x]2[Y ]

Kc =
[Z]

[X][Y ]
2

https://dl.doubtnut.com/l/_zCVuWkjDDhir
https://dl.doubtnut.com/l/_t4h9q7FCNssR
https://dl.doubtnut.com/l/_XJGMQNTf46LS


31. The unit for the rate constant for the second order reaction [

Concentration :  time : s] are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

 Mol litre − 1

Mol− 1litre− 1

Mollitre− 2
s− 1

s− 1

mollitre− 1
S − 1

32. The rate constant of a reaction is  the

order of the reaction is

A. zero

B. 1

C. 2

1.2 × 10− 5mol− 2litre2
S − 1

https://dl.doubtnut.com/l/_XJGMQNTf46LS
https://dl.doubtnut.com/l/_HJnDxI6kjSeQ


D. 3

Answer: D

Watch Video Solution

33. The rate constant for a first order reaction whose half life is 480

sec, is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1.44 × 10− 3s− 1

1.44s− 1

0.72 × 10− 3s− 1

2.88 × 10− 3s− 1

https://dl.doubtnut.com/l/_HJnDxI6kjSeQ
https://dl.doubtnut.com/l/_KVxqLLpuFJEJ
https://dl.doubtnut.com/l/_AvKDVlSv0qZx


34. The rate constant for the reaction 

 


is . If the rate is , then the

concentration of  (in ) is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2N2O5 → 4NO2 + O2

3.0 × 10− 5s− 1 2.40 × 10− 5molL− 1s− 1

N2O5 molL− 1

1.4

1.2

0.04

0.8

35. For a hypothetical reaction , the rate constain is .

If the concentration of  is reduced to half, then the value of rate

constant is

A → B 0.25s− 1

A

https://dl.doubtnut.com/l/_AvKDVlSv0qZx
https://dl.doubtnut.com/l/_VrVNzi4HHV8b


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.25 sec− 1

0.30 sec− 1

0.075 sec− 1

2.25 sec− 1

36. The rate constant of  order has units :

A. 

B. 

C. 

D. 

Answer: D

nth

liter 1 −nMol1 −n sec− 1

Mollitre1 −n sec

Mol1 −n2

litren
2

sec− 1

Mole1 −n : litre n− 1 sec− 1

https://dl.doubtnut.com/l/_VrVNzi4HHV8b
https://dl.doubtnut.com/l/_Y1vFgxUi62tS


Watch Video Solution

37. The rate of reaction between  and  increases by a factor of ,

when the concentration with respect to  is increased  folds, the

order of reaction w.r.t.  is

Watch Video Solution

A B 100

A 10

A

38.  for the reaction following mechanism has

been proposed . 

( slow)  ( fast ) 

The rate law expression for the reaction is

A. 

B. 

C. 

D. 

2A + 2B → D + E

A + 2B → 2C + d A + 2C → E

Rate = K[A]2[B]2

Rate = [A]2[B]2[C]

rate = k = [A][B]2

Rate = k[A][B]

https://dl.doubtnut.com/l/_Y1vFgxUi62tS
https://dl.doubtnut.com/l/_845GpqgsCtRn
https://dl.doubtnut.com/l/_OPK65Dlg7jgh


Answer: C

Watch Video Solution

39. For reaction of zero order is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

k =
[A0]

t

kt = [A0] = [A]

Kt = [A] − [A0]

k = ln
2.303

t

[A0]

[A]

40. The number of atoms or molecules whose concentration changes

during a chemical change is its

https://dl.doubtnut.com/l/_OPK65Dlg7jgh
https://dl.doubtnut.com/l/_Q6JbhMJxpalk
https://dl.doubtnut.com/l/_MtugqoojHVpt


A. Order of reaction

B. Molecularity

C. changes in reaction

D. dynamics

Answer: A

Watch Video Solution

41. The reaction  is a

A. first order reaction

B. second order reaction

C. zero order reaction

D. third order reaction

Answer: A

H2O2 → H2O + [O]

https://dl.doubtnut.com/l/_MtugqoojHVpt
https://dl.doubtnut.com/l/_ESZobQmv7AeO


Watch Video Solution

42. The unit of the rate constant for first order reaction is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Mol− 1

sec− 1

sec− 1 mol− 1dm
3

Mol sec− 1 dm3

43. Correct order for a first order reaction is

A. 

B. 

t1 / 2 ∝ C − 1

t1 / 2 ∝ C

https://dl.doubtnut.com/l/_ESZobQmv7AeO
https://dl.doubtnut.com/l/_e5IYCBtSynqg
https://dl.doubtnut.com/l/_ObBkqwjk619E


C. 

D. 

Answer: C

Watch Video Solution

t1 / 2 ∝ C 0

t1 / 2 ∝ C
1
2

44. Which of the following is a first order reaction ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH4NO2 → N2 + 2H2O

2HI ⇔ H2 + I2

2NO2 ⇔ 2NO + O2

2NO2 ⇔ 2NO + O2

https://dl.doubtnut.com/l/_ObBkqwjk619E
https://dl.doubtnut.com/l/_d5FCiqCNiKYq
https://dl.doubtnut.com/l/_jx5aXEhgQitA


45. For a reaction between gaseous compounds,  ,

the reaction rate law is rate k[A][B]. If the volume of the container is

made  of the initial, then what will be the rate of reaction as

compared to the initial rate?

A. 

B. 

C.  times

D. 8 times

Answer: C

Watch Video Solution

2A + B → C + D

1/4th

1

16

1

8

16

46. Order of a reaction can be

A. Fractional

B. zero

https://dl.doubtnut.com/l/_jx5aXEhgQitA
https://dl.doubtnut.com/l/_xExJoqPxMsrt


C. Negative

D. both (a) and (b)

Answer: D

Watch Video Solution

47. The rate constant of a reaction is  The order

of the reaction is

A. one

B. zero

C. two

D. three

Answer: A

Watch Video Solution

2.5 × 10− 2minutes − 1

https://dl.doubtnut.com/l/_xExJoqPxMsrt
https://dl.doubtnut.com/l/_VW6LtYJTXPlA


48. when concentration of reactant in reaction  is increased

by 4 times , the rate increase only 2 times The order of the reaction

would be

A. 2

B. 

C. 

D. 

Answer: D

Watch Video Solution

A → B

1

3

4

1

2

49. In the presence of acid, the initial concentration of cane sugar was

reduced from 0.2 M to 0.1 M in 5 h and to 0.05 M in 10 h. The reaction

must be of

https://dl.doubtnut.com/l/_wMJ2qMGQ52Zg
https://dl.doubtnut.com/l/_kkBh7u6LCvr2


A. zero order

B. first order

C. second order

D. Fractional order

Answer: B

Watch Video Solution

50. For a zero order reaction, the plot of concentration, vs time is

linear with

A.  ve slope and zero intercept

B.  ve slope and zero intercept

C.  ve slope and non- zero intercept

D.  ve slope and non- zero intercept

+

−

+

−

https://dl.doubtnut.com/l/_kkBh7u6LCvr2
https://dl.doubtnut.com/l/_5azeu2hKZxbq


Answer: D

Watch Video Solution

51. The rate constant is given by the equation .

Which factor should register a decrease for the reaction to proceed

more rapidly?

A. T

B. Z

C. A

D. Ea

Answer: D

Watch Video Solution

k = P . Ze−Ea /RT

https://dl.doubtnut.com/l/_5azeu2hKZxbq
https://dl.doubtnut.com/l/_U1EbJF7ComLH


52. Which of the following is correct ?

A. molecularity of a reaction is same as the order of a reaction

B. in some cases order of a reaction may be same as the

molecularity of the reaction

C. both (a) and (b) are correct

D. Molecularity is different from order of reaction

Answer: B

Watch Video Solution

53. Ethyl acetate is hydrolysed in acidic medium Its order of reaction

and molecularity are respectively :

A. 1 and 1

B. 1 and 2

https://dl.doubtnut.com/l/_VBZBxFs5sjvS
https://dl.doubtnut.com/l/_YKYMZlqRb4xG


C. 2 and 1

D. 2 and 2

Answer: B

Watch Video Solution

54. For the single step reaction of the type  , the

rate law is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A + 2B → E + 2F

Rate = k[A][B]

rate =
k[E][F ]

2

[A][B]
2

Rate = k[A][2B]

rate = k[A][B]
2

https://dl.doubtnut.com/l/_YKYMZlqRb4xG
https://dl.doubtnut.com/l/_URhslkSTcyog


55. For a single step reaction  Products, the molecularity

is

A. Zero

B. 1

C. 2

D. 3

Answer: D

Watch Video Solution

X + 2Y →

56. Which one of following formula represents the first order reaction

?

A. 

B. 

k = log
2.303

t

[A]

[A0]

k = 2.303 log
a − x

a

https://dl.doubtnut.com/l/_URhslkSTcyog
https://dl.doubtnut.com/l/_6HAXah8Mkgdh
https://dl.doubtnut.com/l/_ixsbQMR6G9SP


C. 

D. 

Answer: C

Watch Video Solution

[A = [A0]e−kt

k = log
2.303

t

a + x

a

57. which of the following is a first order reaction ?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

2H2O2 ( aq )

pt
−−→ 2H2O + O2 ( g )

2HI → H2 + I2

2NO2 → 2NO + O2

2NO + O2 → 2NO2

https://dl.doubtnut.com/l/_ixsbQMR6G9SP
https://dl.doubtnut.com/l/_iZf6VfpGdaRR
https://dl.doubtnut.com/l/_EjVdJzqR4VpL


58. Which of the following represents the expression for  of

concentration remaining of a first order reaction ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3/4th

log
2.303

k

4

3

log
2.303

k

3

4

log 4
2.303

k

log 3
2.303

k

59. The chemical reactions in which the reactants require high

amount of activation energy are generally

A. Slow

B. Fast

https://dl.doubtnut.com/l/_EjVdJzqR4VpL
https://dl.doubtnut.com/l/_KOy5QXBjbQbv


C. instantaneous

D. spontaneous

Answer: A

Watch Video Solution

60. If a is the initial concentration and K is the rate constant of a zero

order reaction , the time for the reaction to go to completion wil be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

k

a

a

k

a

2K

K

2a

https://dl.doubtnut.com/l/_KOy5QXBjbQbv
https://dl.doubtnut.com/l/_putglWeuOBHa


61. The activation energy of exothermic reaction  is 

. The heat of reaction is . The activation

energy for the reaction  (in kJ/mol) will be :

A.  KJ

B. 120KJ

C. 280 KJ

D. 200KJ

Answer: B

Watch Video Solution

A → B

80kJmol − 1 200kJmol − 1

B → A

80

62. The activation energy for the forward reaction  is 

 and  is . The activation energy for the

reverse reaction is

X → Y

60kJmol− 1 ΔH −20kJmol− 1

https://dl.doubtnut.com/l/_R4A8skBdRv19
https://dl.doubtnut.com/l/_utNVIQPiZhnD


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

40KJmol− 1

60KJmol− 1

80KJmol− 1

20KJmol− 1

63. The rate of the first-order reaction  products is 

. What will be value of rate constant when

the concentration of  is  ?

A. 

B. 

C. 

D. 

X →

7.5 × 10− 4molL− 1min− 1

X 0.5molL− 1

3.75 × 10− 4
− 1

min

2.5 × 10− 5
− 1

min

0.1 × 10− 4

0.3 × 10− 4

https://dl.doubtnut.com/l/_utNVIQPiZhnD
https://dl.doubtnut.com/l/_9DgcQnMhlB5n


Answer: C

Watch Video Solution

64. For the reaction 

 The rate of change of concentration for

hydrogen is  The rate of change of concentration of

ammonia is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

N2 + 3H2 → 2NH3

0.3 × 10− 4Ms− 1

−0.2 × 10− 4

0.2 × 10− 4

0.1 × 10− 4

0.3 × 10− 4

https://dl.doubtnut.com/l/_9DgcQnMhlB5n
https://dl.doubtnut.com/l/_CvlfQY4QhyVI
https://dl.doubtnut.com/l/_unUv92xnNFqI


65. The reaction  involves the mechanism , 

(fast) 


(slow) 


 


the rate expressio would be ,

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2A + B → B → D + E

A → B

B → C

A + C → D + E

k[A]2[B]

k[B]

k[A]

k[A][B]

66. The number of molecules of the reactants taking part in a single

step of the reaction tells about :

https://dl.doubtnut.com/l/_unUv92xnNFqI
https://dl.doubtnut.com/l/_nM21EqYEOrGd


A. Molecularity of the reaction

B. Mechanism of the reaction

C. Order of reaction

D. Mole fraction

Answer: A

Watch Video Solution

67. Rate of a chemical reaction can be kept constant by

A. Stirring the comounds

B. Keeping the tempature constant

C. Both (a) & (b)

D. Adding a catalyst

Answer: B

https://dl.doubtnut.com/l/_nM21EqYEOrGd
https://dl.doubtnut.com/l/_9aXr6TKXnuQY


Watch Video Solution

68. Minimum energy required for molecules to react is called :

A. Kinetic energy

B. Potential energy

C. Heat energy

D. Activation energy

Answer: D

Watch Video Solution

69. The raction  is an example

of

A. first order reaction

2FeCl3 + SnCl2 → 2FeCl2 + SnCl4

https://dl.doubtnut.com/l/_9aXr6TKXnuQY
https://dl.doubtnut.com/l/_8hvrzKjBhgrh
https://dl.doubtnut.com/l/_Hvxd7YRBAFPK


B. third order reaction

C. second order reaction

D. Zero order reaction

Answer: B

Watch Video Solution

70. The enzyme catalysed reaction is faster than metal catalysed

reaction because its activation energy is

A. Greater

B. Lower

C. Same

D. Zero

Answer: B

https://dl.doubtnut.com/l/_Hvxd7YRBAFPK
https://dl.doubtnut.com/l/_XfgtilgQ4U5I


Watch Video Solution

71. On adding  to  white ppt , occurs

A. Instananeosuly

B. with a measurable speed

C. Slowly

D. Depending on condition

Answer: A

Watch Video Solution

AgNO3 NaCl

72. For a given reaction half - life period was found to be directly

proporional to the initial concentration of the reaction ,The order is

A. zero

https://dl.doubtnut.com/l/_XfgtilgQ4U5I
https://dl.doubtnut.com/l/_4lbHA8Vm3VEh
https://dl.doubtnut.com/l/_3ThJRYz9o3bv


B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

73. If initial concentration is doubled, the time for half-reaction is also

doubled, the order of reaction is

A. first

B. second

C. Third

D. zero

Answer: D

https://dl.doubtnut.com/l/_3ThJRYz9o3bv
https://dl.doubtnut.com/l/_5M7PkcxRv6sc


Watch Video Solution

74. In hydrolysis of organic cholride with excess of water 

A. Molecularity is 2 and order of reaction is also 2

B. Molecularity is 2 and order of reaction is 1

C. Molecularity is 1 and order of reaction is 2

D. Molecularity is 1 and order of reaction is 1

Answer: B

Watch Video Solution

RCl + H2O → ROH + HCl

75. Certain bimolecular reactions which follow the first order kinetics

are called _____.

A. unimolecular reactions

https://dl.doubtnut.com/l/_5M7PkcxRv6sc
https://dl.doubtnut.com/l/_jG7tSORSJDvP
https://dl.doubtnut.com/l/_OqwRr9ZykIji


B. pseudo unimolecular reactions

C. Fist order reactions

D. biomolecular reactions

Answer: B

Watch Video Solution

76. The hydrolysis of ethyl acetate is a reaction of : 

A. First order

B. Second order

C. third order

D. Zero order

Answer: A

CH3COOC2H5 + H2O
H +

−−→ CH3COOH + C2H5OH

https://dl.doubtnut.com/l/_OqwRr9ZykIji
https://dl.doubtnut.com/l/_BrWQRBmhe7P4


Watch Video Solution

77. If [A] is the concentration of A at any time t and  is the

concentration at t=0 , then for the  order reaction , the rate

equation can be written as _____.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[A]0

1st

k = log
2.303

t

[A]

[A0]

kt = 2.303 log
[A0]

[A]

k = log
2.303

t

[A0]

[A0] − [A]

k = ln
2.303

t

[A0]

[A]

78. The logarithm of rate constant of a reaction

A. decreases linearly with increase in inverse of temperature

https://dl.doubtnut.com/l/_BrWQRBmhe7P4
https://dl.doubtnut.com/l/_8qJJUOnYreiA
https://dl.doubtnut.com/l/_AkQDSE71raxD


B. increases linearly with increases in inverse of temperature

C. increases linearly with increases in temperature

D. Decreases linearly with increases in temperature

Answer: A

Watch Video Solution

79. in the following plot for a first order reaction slope is equal to 

https://dl.doubtnut.com/l/_AkQDSE71raxD
https://dl.doubtnut.com/l/_Vh3OmN31UeQN


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−k

−
k

2.303

−
2.303

k

−k × 2.303

https://dl.doubtnut.com/l/_Vh3OmN31UeQN


80.  

The above plot is for _______ order rection to calculate value of rate

constant .

A. Second

B. first

C. zero

D. First and zero

Answer: C

https://dl.doubtnut.com/l/_i334oVvMysMU


Watch Video Solution

81. The half-life period for the first order reaction is 693 seconds. The

rate constant of this reaction would be

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

0.1 sec− 1

0.01 sec− 1

0.001 sec− 1

0.0001 sec− 1

82. What is the order of the reaction which obeys the expressition

 ?

A. first

t1 / 2 =
1

ka

https://dl.doubtnut.com/l/_i334oVvMysMU
https://dl.doubtnut.com/l/_8XKZsqDGPIhb
https://dl.doubtnut.com/l/_iG7mmU9vgaF0


B. Second

C. third

D. zero

Answer: B

Watch Video Solution

83. The amount of radioactive  minutes) left after 50

minutes will be :

A. 

B. 

C. 

D. 

Answer: A

52I
123(t1 / 2 = 25

1

4

1

2

1

3

1

8

https://dl.doubtnut.com/l/_iG7mmU9vgaF0
https://dl.doubtnut.com/l/_47C8psFk0K6Z


Watch Video Solution

84. The half -life period for a first order reaction is 69.3 S . Its rate

constant is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

10− 2s− 1

10− 4s− 1

10s− 1

102s− 1

85. The half-life period of any first order reaction:

A. directly proportional to the initial concentration of the reactant

https://dl.doubtnut.com/l/_47C8psFk0K6Z
https://dl.doubtnut.com/l/_AetLheOWQeSE
https://dl.doubtnut.com/l/_riabjABkJpAA


B. Half of the reactions

C. same for all reactions

D. indepent of initial concentration of reactions

Answer: D

Watch Video Solution

86. The half-life period of any first order reaction:

A. directly proptional to the initial concentration 'a'

B. inversely proportional to 'a '

C. independent of 'a'

D. indepent of the constant of the reaction

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_riabjABkJpAA
https://dl.doubtnut.com/l/_h3xhtFuMw4d7


87. The ratio of the times of 99.9 % of the reaction to complete and

half of the reaction to complete is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2

4

8

10

88. If initial concentration is reduced to  in a zero order reaction

, the time taken for half the reaction to complete

A. Remains same

1/4th

https://dl.doubtnut.com/l/_h3xhtFuMw4d7
https://dl.doubtnut.com/l/_xGo4KL39alVT
https://dl.doubtnut.com/l/_PkOHMyCIYTi7


B. becomes 4 times

C. becomes one - fourth

D. Doubles

Answer: C

Watch Video Solution

89. A  order reaction has specific rate constant of  The half -

life of this reaction will be ______.

A. 

B. 

C. 

D. 

Answer: B

1st 2
− 1

min

1.653min

0.347min 

2Min

0.5Min 

https://dl.doubtnut.com/l/_PkOHMyCIYTi7
https://dl.doubtnut.com/l/_XMKkSqe6lnLl


Watch Video Solution

90. Radioactive decay is a

A. Zero order reaction

B. first order reaction

C. second order reaction

D. Third order reaction

Answer: B

Watch Video Solution

91. What is the half-life of a radioactive substance if  of its given

amount disintegrate in  min ?

A.  min

75 %

60

30

https://dl.doubtnut.com/l/_XMKkSqe6lnLl
https://dl.doubtnut.com/l/_vtCnmhyy21aA
https://dl.doubtnut.com/l/_qDfWgRxIIBta


B.  min

C.  min

D.  min

Answer: A

Watch Video Solution

45

75

90

92. Arrhenius equation is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

k = A ⋅ eEa /RT

k = A ⋅ e−Ea /RT

k = A ⋅ eEaT /R

k = A ⋅ e−RT /Ea

https://dl.doubtnut.com/l/_qDfWgRxIIBta
https://dl.doubtnut.com/l/_n5Gk3buNRiDL


93. The effect of temperature on reaction rate is given by

A. Kirchoff's equation

B. Arrhenious equation

C. Vander waal's equation

D. Kinetic equation .

Answer: B

Watch Video Solution

94. If the rate of reaction between A and B is given by rate

 , then the reaction is :

A. First order in A

B. Second order in B

= k[A][B]2

https://dl.doubtnut.com/l/_n5Gk3buNRiDL
https://dl.doubtnut.com/l/_qqUtJlU2uuru
https://dl.doubtnut.com/l/_mwbvqNMwtphl


C. over all having second order

D. Both (a) and (b)

Answer: D

Watch Video Solution

95. The rate of reaction  product is given by

 The order of the reaction is

A. 1

B. 3

C. 

D. 

Answer: D

Watch Video Solution

A + B + C →

r = K[A]1 / 3[B]1 / 2[C].

5

6

11

6

https://dl.doubtnut.com/l/_mwbvqNMwtphl
https://dl.doubtnut.com/l/_CJbeQaaQ1B8R


96. The order of a reaction is determined from:

A. Chemical Equation

B. Experiments

C. Rate constant

D. Thermochemical Equation

Answer: B

Watch Video Solution

97. For the reaction  it is found that the rate of the reaction

quadruples when the concentration of A is doubled . The rate for the

reaction is Rate =  where the value of n is

A. 1

B. 2

A → C

[A]n

https://dl.doubtnut.com/l/_jH522aRua4BO
https://dl.doubtnut.com/l/_URmhLDQqoLKa


C. zero

D. 3

Answer: B

Watch Video Solution

98. What is the order of a reaction which has a rate expression, i.e.

rate = ?

A. 

B. 

C. Zero

D. 1

Answer: B

Watch Video Solution

k[A]3 / 2[B] − 1

3

2

1

2

https://dl.doubtnut.com/l/_URmhLDQqoLKa
https://dl.doubtnut.com/l/_EIYSesruF5tJ


99. A chemical reaction is the result of

A. oxidation

B. reduction

C. effective collisions

D. activation state

Answer: C

Watch Video Solution

100. For producing effective collisions, the colliding molecules must

have

A. a certain amount of energy

B. sufficient kinetic energy

C. sufficient potential energy

https://dl.doubtnut.com/l/_FAdcz09qgIiS
https://dl.doubtnut.com/l/_s17yOXRk7rQL


D. maximum energy of activation

Answer: B

Watch Video Solution

101. The minimum energy needed to convert a reactant into product is

called

A. Potential energy

B. Kinetic energy

C. Threshold energy

D. Activation energy

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_s17yOXRk7rQL
https://dl.doubtnut.com/l/_UCnGiJYok0vv
https://dl.doubtnut.com/l/_jkya5JJZx47h


102. Orienation factor is direclty proportional to

A. Callision frequency

B. Freaction of molecule

C. Rate of reaction

D. Threshold energy

Answer: C

Watch Video Solution

103. Collision theory is satisfactory for:

A. Unimolecular reactions

B. Pseudo unimolecular reactions

C. Bimolecular reactions

D. Zero order reactions

https://dl.doubtnut.com/l/_jkya5JJZx47h
https://dl.doubtnut.com/l/_v90i3IbhRt2e


Answer: C

Watch Video Solution

104. For producing effective collisions, the colliding molecules must

have

A. certain minimum amount of energy

B. energy equal to or greater than the threshold energy

C. Proper orientation

D. threshold energy and proper orientation both

Answer: D

Watch Video Solution

105. In a reaction, the threshold energy is equal to

https://dl.doubtnut.com/l/_v90i3IbhRt2e
https://dl.doubtnut.com/l/_LQ3HkRSEchnT
https://dl.doubtnut.com/l/_yRKes851BKli


A. Activation energy

B. activation energy -normal energy

C. activation energy + normal energy

D. normal energy of reactants only

Answer: C

Watch Video Solution

106. The collision frequency is

A. inversely proportional to the concentration of the treacting

molecules

B. Proportional to the concentration of the reacting molecules

C. equal to the concentration of reactants

D. equal to the concentration of products

https://dl.doubtnut.com/l/_yRKes851BKli
https://dl.doubtnut.com/l/_mvsCmblZhhsR


Answer: B

Watch Video Solution

107. The reaction between  occurs in the following

steps: 

 

 


The reaction interemediate in the reaction is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2 ( g ) and ICI ( g )

H2 + ICI → HI + HCI

HI + ICI → I2 + HCI

HCI

HI

I2

ICI

https://dl.doubtnut.com/l/_mvsCmblZhhsR
https://dl.doubtnut.com/l/_lpeaieqAc3Ll


108. The rate constant of a reaction

A. Decreases with increasing 

B. Decreases with decreasing 

C. is independent of 

D. decreases with increasing temperature

Answer: A

Watch Video Solution

Ea

Ea

Ea

109. A catalyst increases the rate of the temperature

A. increasing 

B. increasing T

C. decreasing 

Ea

Ea

https://dl.doubtnut.com/l/_lpeaieqAc3Ll
https://dl.doubtnut.com/l/_UVrviCtjWYdY
https://dl.doubtnut.com/l/_oBQ3b68qOzFW


D. decreasing T

Answer: C

View Text Solution

110. The formation of  from  takes place in the

following steps : 

 


A.  is intermediate

B.  is catalyst

C.  is catayst and  is intermediate

D.  is catalyst and  is intermediate

Answer: C

Watch Video Solution

SO3 SO2 and O2

(i)SO2 + 2NO2 → 2SO3 + 2NO

(ii)2NO + O2 → 2NO2

NO2

NO

NO2 NO

NO NO2

https://dl.doubtnut.com/l/_oBQ3b68qOzFW
https://dl.doubtnut.com/l/_WYm6DNHSBWiP


111. Arrhenius equation is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = ke−Ea /RT

= e−Ea /RTA

k

k = Ae−Ea /RT

k = Ae−RT /Ra

112. The activation energy of reaction is equal to

A. Threshold energy + Energy of the prosucts

B. Threshold energy - energy of the reactants

C. Threshold energy + Energy of the reactants

https://dl.doubtnut.com/l/_WYm6DNHSBWiP
https://dl.doubtnut.com/l/_ibzMDRQGLUoK
https://dl.doubtnut.com/l/_fDHKKRIfTAuA


D. Threshold energy - Energy of the products

Answer: B

Watch Video Solution

113. An endothermic reaction,  have an activation energy 

 and the heat of the reaction is . The

activation energy of the reaction,  is:

A. 10 kcal 

B. 20 kcal 

C. 40 kcal 

D. 100 kcal 

Answer: A

Watch Video Solution

A → B

15kcal/mol 5kcal/mol

B → A

mole− 1

mole− 1

mole− 1

 mole− 1

https://dl.doubtnut.com/l/_fDHKKRIfTAuA
https://dl.doubtnut.com/l/_w2hQ429mBgcX


114. According to the Arrhenius equation a straight line is to be

obtained by plotting the logarithm of the rate constant of a chemical

reaction  against

A. T

B. 

C. 

D. 

Answer: C

Watch Video Solution

(logk)

logT

1

T

log
1

T

115. The rate of reaction of spontaneous reaction is generally very

slow . This is due to the fact that

A. the equolibrium energy of the reaction is large

https://dl.doubtnut.com/l/_fRWhfCCt7SGP
https://dl.doubtnut.com/l/_akv2u1er8NRd


B. the activation energy of the reaction if large

C. The reaction are exothermic

D. the reaction are endothermic

Answer: B

Watch Video Solution

116. The reactions of higher order are rare because

A. many body collisions involve very high activation energy

B. many body collisons have a low energetically favoured

C. many body collisions are not energetically favoured

D. many body collisions can take place only in the gaseous phase

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_akv2u1er8NRd
https://dl.doubtnut.com/l/_0SbzjRTovOHt


117. An increse in the concentration of the reactants of a reaction

leads to change in:

A. Heat of reaction

B. Threshold energy

C. collision frequency

D. Activation energy

Answer: C

Watch Video Solution

118. The chemical reactions in which the reactants require high

amount of activation energy are generally

A. Slow

https://dl.doubtnut.com/l/_0SbzjRTovOHt
https://dl.doubtnut.com/l/_HYnmfaV3MYqo
https://dl.doubtnut.com/l/_6Fgk8dPoFrRc


B. Fast

C. instantaneous

D. spontaneous

Answer: A

Watch Video Solution

119. Which of the following is the correct expression for Arrhenius

equation ?

A. 

B. 

C. 

D. All the above

Answer: D

ln = ( − )
k2

k1

Ea

R

1

T1

1

T2

lnk = lnA −
Ea

RT

k = A ⋅ e
Ea

RT

https://dl.doubtnut.com/l/_6Fgk8dPoFrRc
https://dl.doubtnut.com/l/_MZIjFseiiGT4


Watch Video Solution

120. rate constant of a reaction at 290 K was found to be .

At 300 K it will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3.2 × 10− 3

1.6 × 10− 3

6.4 × 10− 3

3.2 × 10− 4

3.2 × 10− 2

121. The activation energy of a reaction is 9 kcal  . The

increase in the rate cnstant when its temperature is raised from 295

to 300 approximately

mole − 1

https://dl.doubtnut.com/l/_MZIjFseiiGT4
https://dl.doubtnut.com/l/_p7sTnKaN0a3q
https://dl.doubtnut.com/l/_CqN6OFah5B1j


A.  times

B.  times

C.  times

D. 0.25

Answer: A

Watch Video Solution

1.289

12.89

0.1289

122. The rate constant is given by the equation .

Which factor should register a decrease for the reaction to proceed

more rapidly ?

A. 

B. 

C. 

D. 

k = P . Ze−E /RT

Ea

T

Z

P

https://dl.doubtnut.com/l/_CqN6OFah5B1j
https://dl.doubtnut.com/l/_mQdzJsDYoM3J


Answer: A

Watch Video Solution

123. In the reaction  product , if active mass of B remains

constant but active mass of A is doubled the rate of reaction will be

A. increased twice

B. increased 4 times

C. decreased 2 times

D. decreased 4 times

Answer: B

Watch Video Solution

2A + B →

https://dl.doubtnut.com/l/_mQdzJsDYoM3J
https://dl.doubtnut.com/l/_xrTxcLdRIrs4


124. The rate of the reaction may be expressed by the following

different ways . 




reaction is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= − =
1

2

d[A]

dt

1

3

d[B]

dt

−d[C]

dt

3B + C → 2A

2A + B → C

3A + 2B → 6C

2A → 3B + C

125. The rate for the  order reaction is 

and the initial concentration is 0.2 mol  . The half life period is

____.

1st 0.69 × 10− 2molL− 1
− 1

min

L− 1

https://dl.doubtnut.com/l/_EA5sUlyQzWcx
https://dl.doubtnut.com/l/_Z9m4gSQfvpeB


A. 1200S

B. 

C. 600S

D. 1S

Answer: A

Watch Video Solution

0.33S

126. Pieces of wood burn faster than a log of wood of the same mass

because

A. surface area of log of wood is larger and needs more time to

burn

B. pieces of wood have lager surface area

C. All pieces of wood catch fire at the same time

D. Block of wood has higher density than pieces of the same wood

https://dl.doubtnut.com/l/_Z9m4gSQfvpeB
https://dl.doubtnut.com/l/_dOQy7NAqpaLF


Answer: B

Watch Video Solution

127. When the concentration of a reactant in reaction  is

increased by  times but rate increases only  times, the order of the

reaction would be

A. 2

B. 

C. 

D. 

Answer: B

Watch Video Solution

A → B

8 2

1

3

4

1

2

https://dl.doubtnut.com/l/_dOQy7NAqpaLF
https://dl.doubtnut.com/l/_pAAfKHugsYEl


128. if the rate of reaction between A and B is given by rate

 then the reaction is

A. first order in A

B.  order in B

C. over all order is (1+n)

D. all are correct

Answer: D

Watch Video Solution

= k[A][Bn]

nth

129. IF velocity constant of any reaction  is two times of velocity

constant  of other reaction . The activation energies 

 will be :

A. 

[k' ]

[k' ' ]

[E'a and E' 'a ]

Ea > E
η
a

https://dl.doubtnut.com/l/_32IuWJ4lmHsT
https://dl.doubtnut.com/l/_rjqaZdchJxK7


B. 

C. 

D. 

Answer: C

Watch Video Solution

Ea = E
η
a

Ea < Ea'

Ea = 4E
η
a

130. The rate law for the chemical reaction : 




is : rate =  the rate determining step is

A. 

B. 

C. 

D. 

2NO2Cl → 2NO2 + Cl2

K[NO2Cl].

2NO2Cl → 2NO2 + 2Cl

NO2 + Cl → NO2Cl + Cl

NO2Cl + Cl → NO2 + 2Cl2

NO2Cl → NO2 + Cl

https://dl.doubtnut.com/l/_rjqaZdchJxK7
https://dl.doubtnut.com/l/_eGK0GXtS6Hy2


Answer: D

Watch Video Solution

131. For an imaginary reaction  


Given: rate of disappearance of  


rate of disappearance of  


 are related as:-

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2X + 3Y → products

X = r1

Y = r2

r1 and r2

3r1 = 2r2

r1 = r2

2r1 = 3r2

r1 = 2r2

https://dl.doubtnut.com/l/_eGK0GXtS6Hy2
https://dl.doubtnut.com/l/_MGHzBYy1svn4
https://dl.doubtnut.com/l/_B3RTAEsDeWVm


132. For the reaction , following mechanism

has been provided: 

 


 


Thus rate expression of the above reaction can be writtens as:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2NO2 + F2 → 2NO2F

NO2 + F2

slow
−−→ NO2F + F

NO2 + F
fast

−−→ NO2F

r = K[NO2)]
2
[F2]

r = K[NO2][F2]

r = k[NO2]

r = k[F2]

133. A first orde reaction is 75% completed after 32min. When was

50% of the reaction completed?

https://dl.doubtnut.com/l/_B3RTAEsDeWVm
https://dl.doubtnut.com/l/_4BB9LlYpNEWq


A. 16 minutes

B. 8 minutes

C. 4 minutes

D. 32 minutes

Answer: A

Watch Video Solution

134. The thermal decomposition of a compound is of first order. If

 of a sample of the compound is decomposed in 120 minutes,

how long it take for  of the compounds to decompose.

A. About 240 minutes

B. About 480 minutes

C. About 45 minutes

D. About 400 minutes

50 %

90 %

https://dl.doubtnut.com/l/_4BB9LlYpNEWq
https://dl.doubtnut.com/l/_lYOGS6l4mA8D


Answer: D

Watch Video Solution

135. In the sequence of reaction, 

 


 


The rate determining step of the reaction is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

L
k1

−−→ M
k2

−−→ N
k3

−−→ O

k3 > k2 > k1

A → B

B → C

c → D

A → D

https://dl.doubtnut.com/l/_lYOGS6l4mA8D
https://dl.doubtnut.com/l/_FlpeiFtmNz14
https://dl.doubtnut.com/l/_l3UW3D6Va9UA


136. In the reaction  products the order w.r.t A is found to

be one and w.r.t B equal to 2 . Concentration of A is doubled and that

of B is halved , the rate of reaction will be

A. double

B. halved

C. remain unaffected

D. four times

Answer: B

Watch Video Solution

2A + B →

137. The rate constant of a zero order reaction is . If

the concentration of the reactant after 30 min is 0.05 mol ,

then its initial concentration would be

A. 

0.2molL− 3h− 1

dm− 3

0.01Mol dm− 3

https://dl.doubtnut.com/l/_l3UW3D6Va9UA
https://dl.doubtnut.com/l/_sb7hFwcf08wU


B. 

C. 

D. 

Answer: B

Watch Video Solution

0.15Mol dm− 3

0.25Moldm− 3

4.00Moldm− 3

138. A first order reaction has a half - life period of 69 .3 sec at

 reactant concentration then the rate constant will

be

A. 

B. 

C. 

D. 

0.10Mol litre − 1

10− 4 sec− 1

10− 3 sec− 1

10− 1 sec− 1

6.93 × 10− 1 sec− 1

https://dl.doubtnut.com/l/_sb7hFwcf08wU
https://dl.doubtnut.com/l/_WUg9GxyriEqQ


Answer: B

Watch Video Solution

139. For the equilibrium  Kcal the

increase in temperature would

A. Favour formation of 

B. Favour decomposition of 

C. Not affect the equilibrium

D. stop the reacation

Answer: B

Watch Video Solution

2NO2(g) ⇔ N2O4(g) + 14.6

N2O4

N2O4

https://dl.doubtnut.com/l/_WUg9GxyriEqQ
https://dl.doubtnut.com/l/_yWjkPB49EcEa


140. The rate of a first order reaction is  .

When the initial concentration is . The rate constant in

the units of second is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1.8 × 10− 3Mol L− 1Min− 1

0.3Mol  L− 1

1 × 10− 2S − 1

1 × 10− 4S − 1

6 × 10− 2S − 1

6 × 10− 4S − 1

141. For a second order reaction rate at a particular time is X . IF the

initial concentration is tripled is tripled the rate will become

A. 3x

https://dl.doubtnut.com/l/_6i1wG2v1JhQU
https://dl.doubtnut.com/l/_kgXk8C0eqOIW


B. 

C. 

D. 

Answer: C

Watch Video Solution

9x2

9x

27x

142. An endothermic reaction  has an activation energy as K KJ

 of A . If energy change of the reaction is Y KJ , the activation

of the reverse reaction is

A. 

B. 

C. 

D. 

A → B

Mol − 1

−X

X − Y

x + y

Y − X

https://dl.doubtnut.com/l/_kgXk8C0eqOIW
https://dl.doubtnut.com/l/_TwxHgkQ2BINi


Answer: B

Watch Video Solution

143. We can represent the decomposition of  at a fixed

temperature by the following two chemical equations: 

(P) , 


Activation energy  


(Q) , 


Activation energy  then:

A. 

B. 

C. 

D. 

Answer: D

W t h Vid S l ti

N2O5(g)

2N2O5(g) → 4NO2(g) + O2(g)

Ea

N2O5(g) → 2NO2(g) + O2(g)
1

2

E'a

E1 > E2

E1 < E2

E1 = 2E2

E1 = E2

https://dl.doubtnut.com/l/_TwxHgkQ2BINi
https://dl.doubtnut.com/l/_UhlAG2NTHjz9


Watch Video Solution

144. The rate of a chemical reaction doubles for every  rise in

temperature .If the temperature is increased by  the rate of

reaction increases by about

A. 20 times

B. 32 times

C. 64 times

D. 128 times

Answer: C

Watch Video Solution

10∘C

60∘C

145. In a first order reaction,  of the reactants disappeared in 

. What is the rate constant ?

75 %

1.386hr

https://dl.doubtnut.com/l/_UhlAG2NTHjz9
https://dl.doubtnut.com/l/_vRaHh6FPTb7H
https://dl.doubtnut.com/l/_ukUoUfv1XjDe


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3.6 × 10− 3S − 1

2.8 × 10− 4S − 1

17.2 × 10− 3S − 1

1.8 × 10− 3S − 1

146. For a first order reaction, the ratio of time for the completion of

 and half of the reaction is

A. 2

B. 

C. 

D. 

99.9 %

3.323

6.656

10

https://dl.doubtnut.com/l/_ukUoUfv1XjDe
https://dl.doubtnut.com/l/_xnUzJbw6UOra


Answer: D

Watch Video Solution

147. For the reaction, for which the activation energies for forward

and backward reactions are same, then:

A. 

B. 

C. the order is zero

D. there is not catayst

Answer: A

Watch Video Solution

ΔH = 0

ΔS = 0

https://dl.doubtnut.com/l/_xnUzJbw6UOra
https://dl.doubtnut.com/l/_w4m4UYPIIZRU


148. the hydrolysis of ethyl acetate was carried out separately with

0.05 MHCI and 0.05  .The rate constants were found to be

 respectively . Then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

MH2SO4

K1 and K2

K1 = K2

K1 > K2

k1 < K2

k2 = 2K2

149. the concentration of a reactant in a solution falls (i) from 0.2 to

0.1 M in 2 hrs ,(ii ) from 0.2 to 0.05 m in 4 hrs , the order of the

hydrolysis of the reactant is

https://dl.doubtnut.com/l/_uOUciMrqEewV
https://dl.doubtnut.com/l/_qzLLZnGRmEkK


A. zero

B. two

C. one

D. half

Answer: C

Watch Video Solution

150. A first order reaction takes 100 min for completion of 60 % of

reaction ,The time eequired for completion of 90% of the reaction is

A. 

B. min

C. min

D.  min

150 min

200

220.9

246.6

https://dl.doubtnut.com/l/_qzLLZnGRmEkK
https://dl.doubtnut.com/l/_r96CbW8mC3mJ


Answer: D

Watch Video Solution

151. The relationship between half life and initial concentration is

given by

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

an− 1

1

an− 1

a−n

1

a

https://dl.doubtnut.com/l/_r96CbW8mC3mJ
https://dl.doubtnut.com/l/_epnekFEKKg49


152. for the first order reaction the half life period is ( if K is rate

constant and  in initial concentration )

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

α

ln2

k

1

kα

lnk

2

logk

2

153. If  is the initial concentration of the rectant, the half life period

of the reaction of  order is inversely proportional to :

A. 

B. 

a

nth

an− 1

an

https://dl.doubtnut.com/l/_Jfg1mhFudJj3
https://dl.doubtnut.com/l/_S6uFRZElbues


C. 

D. 

Answer: C

Watch Video Solution

a1 −n

an+ 1

154. for a first order reaction we have  .The time for

completion of 50% reaction is

A. 1 millisec

B. 4 millisec

C. 7 millisec

D. 10 millisec

Answer: C

Watch Video Solution

k = 100 sec− 1

https://dl.doubtnut.com/l/_S6uFRZElbues
https://dl.doubtnut.com/l/_pbq6A2n2Q11d


155. The half-life period or a first order reaction is 1 hrs. What is the

time in hour taken for  completion of the reaction?

A. 1 hours

B. 2 hours

C. 3 hours

D. 4 hours

Answer: C

Watch Video Solution

87.5 %

156. A first order reaction is 50 % completed in 30 minutes . The rate

constant of the reaction is

A. 

B. 

2.31min− 1

2.31 × 102min− 1

https://dl.doubtnut.com/l/_XodpTlbtttOi
https://dl.doubtnut.com/l/_Gp07tye17CQn


C. 

D. 

Answer: C

Watch Video Solution

2.31 × 102min− 1

2.31 × 10− 1min− 1

157. The reaction  M is started with 10 g of L .A After 30 and 90

minute , 5g and 1.25 g of L are left respectively . The order of reaction

is

A. 0

B. 2

C. 1

D. 3

Answer: C

Watch Video Solution

L →

https://dl.doubtnut.com/l/_Gp07tye17CQn
https://dl.doubtnut.com/l/_u3zcpcVz2Aoh


Watch Video Solution

158. The rate of reaction ,  product is given by : rate

 [C ] . The order of the reaction is _______.

A. 1

B. 3

C. 

D. 

Answer: D

Watch Video Solution

A + B + C →

= K[A]1 / 2[B]1 / 3

5

6

11

6

159. Which of the following theory is not related to the chemical

kinetics?

A. Collision theory

https://dl.doubtnut.com/l/_u3zcpcVz2Aoh
https://dl.doubtnut.com/l/_Bfel1qM7mEZN
https://dl.doubtnut.com/l/_0jpHR10Jya7M


B. Absolute reaction rate theory

C. VSEPR theory

D. Transition state theory

Answer: C

Watch Video Solution

160. Collision frequency is

A. The number of collision per second of the reaction mixute

B. the number of collision per unit area of the reaction mixture

C. the number of collision per second per unit volume of the

reaction mixture

D. the number of collision per unit volume of the reaction mixture

Answer: C

https://dl.doubtnut.com/l/_0jpHR10Jya7M
https://dl.doubtnut.com/l/_3ScmoJ0aX4hM


Watch Video Solution

161. Consider the reaction  

if  then  will be

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2NO ( g ) + O2 ( g ) → 2NO2 ( g ) .

= 0.052M /s
d[NO2]

dt
−

d[O2]

dt

0.052M /s

0.114M /s

0.026M /s

−0.026M /s

162. The rate of the first reaction  products is  , when

reactant conentration concentration is 0.2 M . The rate constant for

the raction will be

A → 0.01M /s

https://dl.doubtnut.com/l/_3ScmoJ0aX4hM
https://dl.doubtnut.com/l/_nGHsy7qzUFjV
https://dl.doubtnut.com/l/_rmrm0rN3C6wy


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.05s− 1

0.05min − 1

0.1S − 1

0.01S − 1

163. The slope of a graph l n  versus t for a first order reaction is 

 . The rate constant for the reaction will be

A. 

B. 

C. 

D. 

[At]

−2.5 × 10− 3s− 1

5.76 × 10− 3s− 1

1.086 × 10− 3s− 1

−2.5 × 10− 3s− 1

2.5 × 10− 3s− 1

https://dl.doubtnut.com/l/_rmrm0rN3C6wy
https://dl.doubtnut.com/l/_pdPBU4Sjxwzu


Answer: A

Watch Video Solution

164.  for a reaction from following data correct

rate law = 

` 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A + 2B → C + D

Rate = K[A]
2
[B]

rate = k[A]
2
[B]

2

Rate = K[A][B]
2

Rate = K[A][B]

https://dl.doubtnut.com/l/_pdPBU4Sjxwzu
https://dl.doubtnut.com/l/_Nfpx67KvixFa


165. when concentration of reactant is incresed eighteen times the

rate becomes two times , the rate of reaction is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

1

2

1

3

1

4

166. The rate constant of a reaction has same dimensions as rate of

reaction The reaction is of

A. third order

https://dl.doubtnut.com/l/_Nfpx67KvixFa
https://dl.doubtnut.com/l/_qqPHTu7E8AQP
https://dl.doubtnut.com/l/_IEXgwKFnkufe


B. second order

C. first order

D. zero order

Answer: D

Watch Video Solution

167. The rate constant of reaction is 

the order of reaction is

A. 

B. 

C. 

D. 

Answer: D

5 × 10− 2litre 3mole− 3min− 1

1

2

3

4

https://dl.doubtnut.com/l/_IEXgwKFnkufe
https://dl.doubtnut.com/l/_GPXeecQA6UkX


Watch Video Solution

168. For the first order reaction with half life is 150 seconds , the time

for the concentration of the reactant to fall from m/ 10 to m/100 will

be approximately

A. 600 s

B. 900s

C. 500s

D. 1500s

Answer: C

Watch Video Solution

169. For an exothermic reaction an activation energy of 70 KJ

 and the enthalpy change of reaction is 30 KJ  . Themole − 1 mole  − 1

https://dl.doubtnut.com/l/_GPXeecQA6UkX
https://dl.doubtnut.com/l/_oI9voJJDPQpJ
https://dl.doubtnut.com/l/_35Kmn4zUtBdO


order of the reaction is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

70KJmole− 1

30KJmole − 1

40KJmole− 1

100KJmole − 1

170. For rate of reaction  products is given by

 , if A is taken in large excess , the order of the

reaction would be

A. 0

B. 1

C. 2

A + B + C →

r = k[A][B]0[C]

https://dl.doubtnut.com/l/_35Kmn4zUtBdO
https://dl.doubtnut.com/l/_ILgIPgc30wnV


D. nil

Answer: B

Watch Video Solution

171. for a raction ,  in an aqueous

medium , the rate of reaction is given by 

 

the overall order of reaction is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I − + OCI − → IO− + Cl−

= k
d[IO] −

dt

[I − ][OCI − ]

[OH − ]

−1

0

1

2

https://dl.doubtnut.com/l/_ILgIPgc30wnV
https://dl.doubtnut.com/l/_FvRCK9Wbfncr


Watch Video Solution

172. Dependance of rate on concentration is expressed by

A. Rate law

B. order of reaction

C. Molecularity

D. Law of mass action

Answer: A

Watch Video Solution

173. unit of rate is

A. 

B. 

Moldm− 3

moldm3

https://dl.doubtnut.com/l/_FvRCK9Wbfncr
https://dl.doubtnut.com/l/_0kZUHXppmQEi
https://dl.doubtnut.com/l/_fcpoywL2O1tl


C. 

D. 

Answer: C

Watch Video Solution

Moldm− 3

sec

Moldm3

sec

174. For which order reaction, the unit of rate constant is  ?

A. Zero order

B. first order

C. Second order

D. thrid order

Answer: B

Watch Video Solution

time− 1

https://dl.doubtnut.com/l/_fcpoywL2O1tl
https://dl.doubtnut.com/l/_U3f1oOZsnunA
https://dl.doubtnut.com/l/_x6VrvNwwZpDy


175. Which is a correct integrated rate equation?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

k = − 2.303 log10

a

(a − x)

K = − log10

2.303

t

(a − x)

a

k = log10

1

t

a

(a − x)

k = − 2.303 log10

[A]0

[At]

176. The first order integrated rate equation is

A. 

B. 

C. 

D. 

k = tln
a

a − x

k = ln
1

l

a − x

a

k = ln
1

t

a

a − x

k = tln
a − x

a

https://dl.doubtnut.com/l/_x6VrvNwwZpDy
https://dl.doubtnut.com/l/_bEXQF7pmHTBQ


Answer: C

Watch Video Solution

177. The unit of the rate constant for first order reaction is

A. mol / lit

B. (mol / lit ) 

C. 

D.  time

Answer: C

Watch Video Solution

time − 1

time − 1

(mol/lit)

178. for first order reaction

https://dl.doubtnut.com/l/_bEXQF7pmHTBQ
https://dl.doubtnut.com/l/_aiFym3nr2khL
https://dl.doubtnut.com/l/_vRbFYEGgSwo2


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−k = log
2.303

t

(a − x)

a

λ = log
2.303

t

Nt

N0

−K = log
2.303

t

a

a − x

λ = 2.303t log
a

a − x

179. Number of reactant molecules taking part in a reaction is

A. Order of reaction

B. Molecularity of the reaction

C. Rate of reaction

D. Conplex reaction

Answer: B

https://dl.doubtnut.com/l/_vRbFYEGgSwo2
https://dl.doubtnut.com/l/_qB6AGciFG5nr


Watch Video Solution

180. Rate of a reaction

A. increases with increase in temperature

B. decreases with increase in temperature

C. does not depend on temperature

D. does not depend on concentration

Answer: A

View Text Solution

181. A chemical reaction is the result of

A. oxidation

B. reduction

https://dl.doubtnut.com/l/_qB6AGciFG5nr
https://dl.doubtnut.com/l/_BsQxr2oaYwnk
https://dl.doubtnut.com/l/_oj51gUIjdnLu


C. effecitive collisions

D. activation state

Answer: C

Watch Video Solution

182. Which of the following is a first order reaction ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH4NO2 → N2 + 2H2O

2HI ⇔ H2 + I2

2NO2 ⇔ 2NO + O2

2NO + O2 ⇔ 2NO2

https://dl.doubtnut.com/l/_oj51gUIjdnLu
https://dl.doubtnut.com/l/_7VEUfKH0GMAc
https://dl.doubtnut.com/l/_hd9gvvARux97


183. the Order of reaction can be deduced from

A. chemical Equation

B. Experiments

C. Rate constant

D. thermochenical Equation

Answer: B

Watch Video Solution

184. For producing effective collisions, the colliding molecules must

have

A. minimum potential energy

B. sufficient kinetic enrgy

C. sufficient potential energy

https://dl.doubtnut.com/l/_hd9gvvARux97
https://dl.doubtnut.com/l/_GuwnEzjWVwzo


D. Maximum energy of activation

Answer: B

Watch Video Solution

185. The rate of the first-order reaction  products is 

. What will be value of rate constant when

the concentration of  is  ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

X →

7.5 × 10− 4molL− 1min− 1

X 0.5molL− 1

8 × 10− 4

1.5 × 10− 3

2.5 × 10− 5

3.75 × 10− 4

https://dl.doubtnut.com/l/_GuwnEzjWVwzo
https://dl.doubtnut.com/l/_T5eAT7tCXU1C


186. The reaction  M is started with 10 g of L .A After 30 and 90

minute , 5g and 1.25 g of L are left respectively . The order of reaction

is

A. 0

B. 2

C. 1

D. 3

Answer: C

Watch Video Solution

L →

187. For the reaction between A and B 

 product 

the following rate data were obtained . 

A + B →

https://dl.doubtnut.com/l/_vZkxn3FyP1fZ
https://dl.doubtnut.com/l/_NU1TY4kYB9Ic


`  


the reaction is

A. Zero order

B. first order

C. second order

D. third order

Answer: D

Watch Video Solution

188. the half life of the first order reaction is  sec the rate

constant for the reaction is

346.5

https://dl.doubtnut.com/l/_NU1TY4kYB9Ic
https://dl.doubtnut.com/l/_gphWi6R01iBf


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 × 10− 3 sec− 1

5 × 102 sec− 1

2.4 × 102 sec− 1

1.44 × 10− 3 sec− 1

189. Initial concentration of reactant of Zero order reaction is 0.04 M,

rate constant of the reaction is  . Hence

the half life time is

A. sec

B. 

C. 

D. 

1.2 × 10− 3moldm− 3 sec− 1

57.75

16.66 sec

33.33 sec

5.77 sec

https://dl.doubtnut.com/l/_gphWi6R01iBf
https://dl.doubtnut.com/l/_vM4YeXNIZ0iU


Answer: B

Watch Video Solution

190. In accordance to Arrhenius equation, the plot of log  against 

is a straight line. The slope of the line is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

k
1

T

−
Ea

R

−
Ea

2.303

−
Ea

2.303R

−
2.303

EaR

https://dl.doubtnut.com/l/_vM4YeXNIZ0iU
https://dl.doubtnut.com/l/_4NiL9OZgISBM


191. The activation energy of a reaction is zero. The rate constant of

the reaction

A. increases with increaes in temperature

B. decreases with increases in temperature

C. increases with decrease in temperature

D. is almost independent of temperature

Answer: D

Watch Video Solution

192. For firt order reaction, fraction fo colllisions with proper

orientation of colloiding molecules is , collision frequency is 

 and fraction of successive collisions is , then the

rate constant for the reaction is

1 × 10− 2

2 × 104 0.5 × 103

https://dl.doubtnut.com/l/_mjU4hsDFAvU1
https://dl.doubtnut.com/l/_vQZ9YlJjkmNd


A. 

B. 

C. mol 

D. 

Answer: B

Watch Video Solution

2.5 × 10− 4 sec− 1

1 × 105 sec− 1

1 × 10− 9 dm− 3

1 × 105moldm3 sec− 1

193. Arrhenius equation is

A. 

B. 

C. 

D. 

Answer: C

A = ke−Ea /RT

K = AeEa/RT

= eEa /RTA

K

K = Ae−RT /Ea

https://dl.doubtnut.com/l/_vQZ9YlJjkmNd
https://dl.doubtnut.com/l/_KvuEyuOuR9Ua


Watch Video Solution

194. In Arrhenius equation ,  . The A is

A. fraction of collision

B. frequency factor

C. collision frequency

D. Collision factor

Answer: B

Watch Video Solution

K = Ae−Ea /RT

195. For the reaction  product 

 M the rate of reaction is mol  ,

then the rate of reaction at the time of 90 % of each of the reactants

are converted into product is `

A + B →

[A] = [B] = 1 2 × 10− 2 dm− 3 sec− 1

https://dl.doubtnut.com/l/_KvuEyuOuR9Ua
https://dl.doubtnut.com/l/_pMcjkwKhUmRQ
https://dl.doubtnut.com/l/_3yDQa6alTZhM


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1.8 × 10− 2moldm− 3 sec− 1

2 × 10− 4moldm− 3 sec− 1

1.62 × 10− 4moldm− 3 sec− 1

4.05 × 10− 1moldm− 3 sec− 1

196. The intergrated rate equation is 

. The straight line graph is obtained by

plotting:

A. time vs log 

B. 

C. time vs 

D. 

Rt = log, C0 − logCt

Ct

vsCt

1

time

Ct

vs
1

time

1

Ct

https://dl.doubtnut.com/l/_3yDQa6alTZhM
https://dl.doubtnut.com/l/_1Phb2KKVEFWr


Answer: A

Watch Video Solution

197. In respect of the equation  in chemical kinetics,

which one of the following statements is correct?

A. A is adsorption factor

B.  is energy of activation

C. R is Rydberg's constant

D. K is equilibrium constant

Answer: B

Watch Video Solution

k = Ae−Ea/RT

Ea

https://dl.doubtnut.com/l/_1Phb2KKVEFWr
https://dl.doubtnut.com/l/_d7z9Yc2tYdOL


198. A schematic plot of In  versus inverse of temperature for a

reaction is shown below . 




The reaction must be

A. exothermic

B. endothermic

C. one with negligble enthalpy change

D. highly spontaneous at ordinary temperature

Answer: A

View Text Solution

Keq

https://dl.doubtnut.com/l/_kt86GYr5S2kS


199. For a reaction , rate of disappearance of  is related

to the rate of apperance of  by the expression:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A → 2B
1

2
'A'

'B'

− =
d[A]

dt

1

2

d[B]

dt

− =
d[A]

dt

1

4

d[B]

dt

− =
d[A]

dt

d[B]

dt

− = 4
d[A]

dt

d[B]

dt

200. The time for half-life period of a certain reaction,  products

is . When the initial concentration of the reactant  is 

, how much time does it take for its concentration to come

from  to , if it is zero order reaction ?

A →

1h 'A'

2.0molL− 1

0.50 0.25molL− 1

https://dl.doubtnut.com/l/_1quwGRYlxnpk
https://dl.doubtnut.com/l/_fvSonsvm9rTq


A. 4h

B. 

C. 

D. 

Answer: C

Watch Video Solution

0.5h

0.25h

1h

201. Consider the reaction, 

 


The rate equation for this reaction is, 

Rate  


Which of these mechanisms is are consistent with this rate equation

? 

(I)  (slow) 


 (fast) 


Cl2(aq) + H2S(aq) → S(s) + 2H + (aq) + 2Cl− (aq)

= k[Cl2][H2S]

/

Cl2 + H2S → H + + Cl− + Cl+ + HS −

Cl+ + HS − → H + + Cl− + S

https://dl.doubtnut.com/l/_fvSonsvm9rTq
https://dl.doubtnut.com/l/_OIHWHPiTPEy0


(II)  (fast equilibrium) 


 (slow)

A. B only

B. Both A and B

C. Neither A nor B

D. A only

Answer: D

Watch Video Solution

H2S ⇔ H + + HS −

Cl+ + HS − → 2Cl− + H + + S

202. The rate of a chemical reaction doubles for every  rise of

temperature. If the temperature is raised by , the rate of the

reaction increases by about

A. 24 times

B. 32 times

10∘C

50∘C

https://dl.doubtnut.com/l/_OIHWHPiTPEy0
https://dl.doubtnut.com/l/_zMVKo2x8qjGj


C. 64 times

D. 10 times

Answer: B

Watch Video Solution

203. For a first order reaction ,  Products, the concentrations of

A changes from 0.1 M to 0.025 M in 40 minutes. The rate of reaction

when the concentration of A is 0.01 M is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A →

1.73 × 10− 5m/ min

3.47 × 10− 4M / min

3.47 × 10− 5 M

min

1.83 × 10− 4M / min

https://dl.doubtnut.com/l/_zMVKo2x8qjGj
https://dl.doubtnut.com/l/_mZwK0l4DCTkB


Watch Video Solution

204. The specific rate constant of a first order reaction depends on

the

A. concentration of the reactant

B. concentration of product

C. time

D. temperature

Answer: D

Watch Video Solution

205. Which one of the following is wrongly matched ?

A. saponification of - second order reaction

B. Hydrolysis of  - pseudounimolecular reaction

CH3COOC2H5

CH3COOCH3

https://dl.doubtnut.com/l/_mZwK0l4DCTkB
https://dl.doubtnut.com/l/_qoWKQ6fWi7Hr
https://dl.doubtnut.com/l/_9BecBf6m1XBM


C. Decompostion of  - first order reaction

D. Combination of  to give HBr - zero order reaction

Answer: D

View Text Solution

H2O2

H2 and Br2

206. Conisder the chemical reaction 

 


The rate of this reaction can be expressed in terms of time derivatives

of the concentration of , or . Identify the correct

relationship among the rate expresisons.

A. 

B. 

C. 

D. 

N2(g) + 3H2(g) → 2NH3(g)

N2(g), H2(g) NH3(g)

rate = − d[N2] /dt = − 1/3d[H2] /dt = 1/2d[NH3] /dt

rate = − d[N2] /dt = − 3d[H2] /dt = 2d[NH3] /dt

Rate = d[N2] /dt = − 3/3d[H2] /dt = 1/2d[NH3] /dt

rate = d[N2] /dt = − d[H2] /dt1/2s[NH3] /dt

https://dl.doubtnut.com/l/_9BecBf6m1XBM
https://dl.doubtnut.com/l/_ALbEVVNXgFeQ


Answer: A

Watch Video Solution

207. In a first order reaction, the concentration of the reactant

decreases form  to  in . The rate

constant of the reaction (in ) is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

800mol dm − 3 50mol dm − 3 2 × 104s

s− 1

2 × 104

3.45 × 10− 5

1.386 × 10− 4

2 × 10− 4

https://dl.doubtnut.com/l/_ALbEVVNXgFeQ
https://dl.doubtnut.com/l/_s4TN9f2G5dhY


208. The reaction  (Product ) follows first order kinetics. In 40

minutes, the concentration of X changes from 0.1M to 0.025 M , then

rate of reaction when concentration of X is M is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

X → Y

0.01

1.73 × 10− 4M
− 1

min

3.47 × 10− 5M
− 1

min

3.47 × 10− 4M
− 1

min

1.73 × 10− 5M
− 1

min

209. The following data were obtained during the first order thermal 

decomposition of  at a constant volume 

 

SO2Cl2

SO2Cl2(g) → SO2(g) + Cl2(g)

https://dl.doubtnut.com/l/_qrZwjHO3I60z
https://dl.doubtnut.com/l/_5IHmTtqAnVBZ


 


Calculate the rate of the reaction when total pressure is 0.65 atm

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

0.35atmS − 1

2.235 × 10− 3atmS − 1

7.8 × 10− 4atms− 1

1.55 × 10− 4atmS − 1

210. For a first order reaction , the temperature 

dependent rate constant  was found to follow the equation

A → P (T )

(k)

https://dl.doubtnut.com/l/_5IHmTtqAnVBZ
https://dl.doubtnut.com/l/_cy1HtA3JruRW


. The pre-exponential factor  and the

activation energy , respective, are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

logk = − 2000(1/T ) + 6.0 A

Ea

1.0 × 106S − 1 and 9.2KJmol− 1

6.0 × 106S − 1 and 16.6KJmol− 1

1.0 × 106S − 1 and 16.6KJmol− 1

1.0 × 106S − 1 and 38.3KJmol− 1

211. For a reaction  data is as follows :


 

which one is the rate law equation ?

x + y → z

https://dl.doubtnut.com/l/_cy1HtA3JruRW
https://dl.doubtnut.com/l/_rXaKVIYlRhCU


A. Rate 

B. rate

C. Rate 

D. Rate 

Answer: D

Watch Video Solution

= k[x][y]

= k[x0][y]

= k[x][y]2

= k[x][y]0

212. For a reaction ,  data is as follows : 


` 

the rate law for the reaction is

A. Rate 

B. Rate 

A + B → C

= K[B]3

= [A]2[B]

https://dl.doubtnut.com/l/_rXaKVIYlRhCU
https://dl.doubtnut.com/l/_h3yGwMMpRnr2


C. Rate 

D. Rate 

Answer: C

Watch Video Solution

= k[A]3

= [A][B]2

213. The reaction , 

 if first order with respect to `

A. vs time

B.  vs time with a positive slope

C. vs time

D. vs time with a negative slope

Answer: D

Watch Video Solution

2N2O5 → 4NO2 + O2(g)

PNO2

log10 PN2O5

PN2O5

log10 PN2O5

https://dl.doubtnut.com/l/_h3yGwMMpRnr2
https://dl.doubtnut.com/l/_9va0K4CkezZg


214. A first order reaction is one-fifth completed in 40 minutes. The

time reuired for its  completion is :

A. 50 minutes

B. 100 minutes

C. 200 minutes

D. infinite

Answer: D

Watch Video Solution

100 %

215. Half life of a first order reaction is 2 hours , what time is required

for 90% of the reactant to be consumed ?

A. 199 minutes

B. 398 minutes

https://dl.doubtnut.com/l/_BwwXJeo2dGt0
https://dl.doubtnut.com/l/_I2M7jI6nq1Pj


C. 598 minutes

D. 798 minutes

Answer: B

Watch Video Solution

216. Rate of a general reaction A + B  products can be expressed

as follows on the basis of collision theory. 

Rate  


Which of the following statements is not correct for the above

expression?

A. Z is collision frequency and is equal to number of collision per

second per unit volume of the reaction mixture

B.  is the fracation of molecules with kinetic energy equal

to or greater than 

→

= ZABe
−Ea /RT

eEa /RT

Ea

https://dl.doubtnut.com/l/_I2M7jI6nq1Pj
https://dl.doubtnut.com/l/_7nlmxUKOvPeP


C.  is activation energy of the reaction

D. All the molecules which colloide with one other are effective

collisions

Answer: D

Watch Video Solution

Ea

217. For the reaction , if the rate of

disappearance of  is  mol , what is the rate of

formation of 

A. 

B. 

C. 

D. 

4NH3 + 5O2 → 4NO + 6H2O

NH3 3.6 × 10− 3 L− 1s− 1

H2O

5.4 × 10− 3molL− 1s− 1

3.6 × 10− 3molL− 1s− 1

https://dl.doubtnut.com/l/_7nlmxUKOvPeP
https://dl.doubtnut.com/l/_giqDhqpt2muf


Answer: A

Watch Video Solution

218. For the reaction , if the rate of

disappearance of  is  mol , what is the rate of

formation of 

A. zero 

B. First 

C. first 

D. Zero 

Answer: A

Watch Video Solution

4NH3 + 5O2 → 4NO + 6H2O

NH3 3.6 × 10− 3 L− 1s− 1

H2O

molL− 1S − 1

molL− 1S − 1

S − 1

Lmol− 1S − 1

https://dl.doubtnut.com/l/_giqDhqpt2muf
https://dl.doubtnut.com/l/_Q3zL788peDjI


219. The rate of a gaseous reaction is given by the expresison

. The volume of the reaction vessel is suddenly reduced to

one-half of the initial volume. The reaction rate relative to the original

rate will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

k[A]2[B]3

a
1

8

a
1

2

2a

32a

220. For a reaction  which of the following

statement is correct ?

P + Q → 2R + S

https://dl.doubtnut.com/l/_vHWqjHhB68Zx
https://dl.doubtnut.com/l/_gIivBIWqhZyU


A. Rate of disappearance of P = Rate of appearance of S

B. Rate of disappearance of  Rate of appearance of R

C. Rate of disppearance of P =Rate of appearance of Q

D. Rate of disapperance of  rate of apperance of R

Answer: B

Watch Video Solution

Q = 2 ×

Q = ×
1

2

221. The graph of the effect of catalyst on activation energy is given

below : 

https://dl.doubtnut.com/l/_gIivBIWqhZyU
https://dl.doubtnut.com/l/_Jrjq6qLmr1h4


 


Fill up the blanks x and Y with appropriate statements.

A. X= energy of activation without catalyst 

Y = energy of activation with catalyst

B. X= path of reaction with catalyst , 

Y= path of reaction without catalyst

C. X= energy of activation with catalyst ,

Y= energy of activation with out catalyst

D. X=Energy of endothermic reaction 

Y= energy of exothermic reaction

https://dl.doubtnut.com/l/_Jrjq6qLmr1h4


Answer: C

Watch Video Solution

222. The possible mechanism for the reaction 

 is 


i)  


ii)  


iii)  


a) What is rate law for the reaction? 

b) What is the order of the reaction?

A. Rate =

B. Rate

C. Rate 

D. Rate 

Answer: B

2NO + 2H2 → N2 + 2H2O

2NO < ⇒ N2O2

N2O2 + H2

slow
−−→ N2O + H2O

N2O + H2O
fast

−−→ N2 + H2O

[N2O2], order = 1

= [N2O2][H2][H2]order = 2

= [N2O2]2, order = 2

= [N2O2]2, order = 3

https://dl.doubtnut.com/l/_Jrjq6qLmr1h4
https://dl.doubtnut.com/l/_edLJZkZy82nX


Watch Video Solution

223. For the reaction  product , what will be the order or

reaction with respect to A and B? 

A. 1 With respect to A and 2 with respect to B

B. 2 with respect to A and 1 with resoect to B

C. 1 with respect to A and 1 with respect to B

D. 2 with respect to A and 2 with respect toB

Answer: B

Watch Video Solution

A + B →

https://dl.doubtnut.com/l/_edLJZkZy82nX
https://dl.doubtnut.com/l/_Y3V17qVxkYvp
https://dl.doubtnut.com/l/_sNG9PQzSbrHz


224. Fill in the blanks by choosing the correct option . 

order of the reaction is the  of the powers to which concentration

terms are raised in expermentally determined rate equation . The unit

of first order rate constant is  the unit of first order rate constant

when concentration is measured in terms of pressure and time in

muutes is 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x––

Y––

Z––

X →  product ,Y → molL− 1  time  − 1, Z → atm
− 1

min

X → sum , Y → mol− 1, Z → atm
− 1

min

x →  product , Y → Lmol− 1, Z → atm
− 1

min

x →  sum , Y → time− 1, Z →
− 1

min

https://dl.doubtnut.com/l/_sNG9PQzSbrHz


225. Fill in the blanks in the following table for the reaction

 , the reaction is of first order w.r.t X and zero order w,r,t

Y 

A. 

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

X + Y → Z

A = 0.2molL− 1, B = 8 × 10− 2molL− 1S − 1, C = 0.1molL− 1

A = 0.4molL− 1, B = 4 × 10− 2molL− 1S − 1, C = 0.2molL− 1

A = 0.2molL− 1, B = 2 × 10− 2molL− 1S − 1, C = 0.4MolL− 1

A = 0.4molL− 1, B = 2 × 10 ⋅ − 2)molL− 1S − 1, C = 0.4molL− 1

https://dl.doubtnut.com/l/_JfdxId2uKf0f


Watch Video Solution

226. For a reaction  the figure shows the path of the

reaction in absence and presence of a catalyst what will be the energy

of activation for forward  and backward  reaction in

presence of a catalyst and  for the reaction gt the dotted curve is

the path of reaction in presence of a catalyst . 

A. 

B. 

C. 

A2 + B2 ⇔ 2AB

(Ef) (Eb)

ΔH

EF = 60KJ /mol, Eb = 70KJ /mol, ΔH = 20KJ /Mol

Ef = 20KJ /mol, Eb = 20KJ /mol, ΔH = 50KJ /mol

Ef = 70KJ /mol, Eb = 20KJ /mol, ΔH = − 10KJ /mol

https://dl.doubtnut.com/l/_JfdxId2uKf0f
https://dl.doubtnut.com/l/_ddRy2jnbdVzf


D. 

Answer: D

Watch Video Solution

Ef = 10KJ /mol, Eb = 0KJ /Mol, ΔH = − 10KJ /mol

227. The minus sign in rate  indicates the _______ in

concentration of the ______ with time. The rate of a reaction is always

_______quantity. The rate of reaction increases with ______in

concentration of reactants. The blanks in the question corresponds to

A. decrease, products ,postive,increse

B. increase, reactants m negative , decrease

C. decrease , reactants , positive , increase

D. increase , products ,positive , increase

Answer: C

Watch Video Solution

= −
d[A]

dt

https://dl.doubtnut.com/l/_ddRy2jnbdVzf
https://dl.doubtnut.com/l/_lwxXsEKHv7UR


228. fill up the following with suitable terms 

(i) Activation energy = Threshold energy - _____

(ii) Half-life period of zero order reaction =____ 

(iii) Average rate of reaction = ___ 

(iv) Instantaneous rate of reaction

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(i) (ii) (iii) (iv)

potential energy 0.693

k

dx

dt

Δ [A ]

Δ t

(i) (ii) (iii) (iv)

Energy of reactants 1

k

Δ [A ]

Δ t

dx

dt

(i) (ii) (iii) (iv)

Energy of reaction 
log k

t

Δ [A ]

Δ t

dx

dt

(i) (ii) (iii) (iv)

Average  kinetic  energy of  reactants a

2k

Δ [A ]

Δ t

dx

dt

https://dl.doubtnut.com/l/_lwxXsEKHv7UR
https://dl.doubtnut.com/l/_LgN86JKsx4Qi


229. The reaction takes place in two steps as 

 


 


Identify the reaction intermediate .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(i)NO2Cl ( g )

K1

−−→ NO2 ( g ) + Cl ( g )

(ii)NO2Cl ( g ) + Cl ( g )

K2

−−→ NO2 ( g ) + Cl2 ( g )

NO2Cl ( g )

NO2 ( g )

Cl2 ( g )

Cl ( g )

230. The rate constant and half - life of a first order reaction are

related to each other as _____.

https://dl.doubtnut.com/l/_W5KtkcgKqzVZ
https://dl.doubtnut.com/l/_oZbeSytj4G6t


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

t1 / 2 =
0.693

K

t1 / 2 = 0.693K

K = 0.693t1 / 2

kt1 / 2 =
1

0.693

231. Average rate of reaction for the following reaction,

 is written as

A. 

B. 

C. 

D. 

2SO2(g) + O2(g) → 2SO3(g)

Δ[SO2]

Δt

−
Δ[O2]

Δt

1

2

Detla[SO2]

Δt

Δ[SO3]

Δt

https://dl.doubtnut.com/l/_oZbeSytj4G6t
https://dl.doubtnut.com/l/_WwFed2MPie9L


Answer: B

Watch Video Solution

232. Give one example of pseudo first order reaction.

A. inversion of cane sugar

B. Decomposition of 

C. Conversion of cycopropane to propene

D. Decompostion of 

Answer: A

Watch Video Solution

H2O2

N2O5

233. Which among the following equations represents arrhenius

equation ?

https://dl.doubtnut.com/l/_WwFed2MPie9L
https://dl.doubtnut.com/l/_2qFDWMIMMV7z
https://dl.doubtnut.com/l/_op8Hzwbuv7QR


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

k = AeEa /RT

k = A ⋅ eRT /Ea

K =
A

eEa /RT

k =
A

eRT /E + ( a )

234. The rate constant for a first order reaction is . If

initial concentration of reactant is 0.080 M, what is the half life of

reaction ?

A. 990S

B. 

C. 

D. 

7.0 × 10− 4s− 1

79.2S

12375S

10.10 × 10− 4S

https://dl.doubtnut.com/l/_op8Hzwbuv7QR
https://dl.doubtnut.com/l/_wp3f1NVo1ZyO


Test Your Grasp

Answer: A

Watch Video Solution

1. Chemical kinetics, a branch of physical chemistry, deals with :

A. heat changes in a reaction

B. physical changes in a reaction

C. rates of reactions

D. structure of a molecules

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_wp3f1NVo1ZyO
https://dl.doubtnut.com/l/_hKtn14GM7vHQ


2. The rate of chemical reaction

A. increase as the reaction proceeds

B. decreases as the reaction prodceeds

C. may increase or decrease during the reaction

D. reamains constant as the reaction proceeds

Answer: B

Watch Video Solution

3. For the hypothetical reaction  , the reaction rate r in

terms of the rate of change of the concentration is given by

A. 

B. 

C. 

2A → 3C

r = −
d[A]

dt

= −
1

2

d[A]

dt

r = −
1

3

d[A]

dt

https://dl.doubtnut.com/l/_7xn9M9Ol5RM9
https://dl.doubtnut.com/l/_ZnZyGrAZ8xoO


D. 

Answer: B

Watch Video Solution

r =
d[A]

dt

4. The term  in the rate expresison refers to the

A. instantaneous rate of reaction

B. average rate of reaction

C. increasing in the concentration of reactants

D. comcentration of reactants

Answer: A

Watch Video Solution

−dx/dt

https://dl.doubtnut.com/l/_ZnZyGrAZ8xoO
https://dl.doubtnut.com/l/_yD8YcmbWdg35


5. In general, with every  rise in temperature, the rate of reaction

becomes appproximately..........

A. ten times

B. double

C. half

D. one tenth

Answer: B

Watch Video Solution

10∘C

6. The activation energy of a reaction is zero. The rate constant of the

reaction

A. increases with increase in temperature

B. decreases with decrease of temperature

https://dl.doubtnut.com/l/_sUuR6gg7WBkZ
https://dl.doubtnut.com/l/_xZj8H31l5hW0


C. decreases with increase of temperature

D. is nearly independent of temperature

Answer: D

Watch Video Solution

7. The activation energy for a hypothetical reaction  is 

. If temperature is raised to  form , the

reaction rate increased by  is almost equal to

A. 0.6

B. 1

C. 0.5

D. 0.2

Answer: B

Watch Video Solution

A → X

12.49kcalmol− 1 305 295K

0.002kcalL− 1mol− 1

https://dl.doubtnut.com/l/_xZj8H31l5hW0
https://dl.doubtnut.com/l/_EJKRIKN1gLvd


Watch Video Solution

8. The rate constant of a reaction depends on

A. initial concentration of the reactants

B. time of reaction

C. temperature

D. extent of reaction

Answer: C

Watch Video Solution

9. Rate expression of a chemical change is 

The order of reaction is :

A. 3

B. 2

− = k[A]2[B]1[C]0dx

dt

https://dl.doubtnut.com/l/_EJKRIKN1gLvd
https://dl.doubtnut.com/l/_8D7oWQClvmEe
https://dl.doubtnut.com/l/_OYAXxhwk2JIT


C. 1

D. zero

Answer: A

Watch Video Solution

10. If the rate of reaction between A and B is given by rate

 , then the reaction is :

A. first order in A

B. second order in B

C. third order overall

D. all are correct

Answer: D

Watch Video Solution

= k[A][B]2

https://dl.doubtnut.com/l/_OYAXxhwk2JIT
https://dl.doubtnut.com/l/_fxJuI4xmvbJw


11. The rate law for the reaction 

 is given by 


Rate . The rate of the reaction will be

A. unaffected by increaing temperature of the reaction

B. doubled on doubling the concentration of NaOH

C. Halved on reducing the concentration of NAOH to one half

D. halved on reducing the concentration of RCI to one half

Answer: D

Watch Video Solution

RCl + NaOH(aq) → ROH + NaCl

= k[RCl]

12. A zero order reactio is one:

A. in which reactants do not react

B. in which one of the reactants is in large excess

https://dl.doubtnut.com/l/_NhQOEcRh9Dnk
https://dl.doubtnut.com/l/_IYJKn80A7G9m


C. whose rate increases with time

D. whose rate is uniform and not affected by time

Answer: D

Watch Video Solution

13. For which of the following reactions, the units of rate constant and

rate of reaction are same?

A. first order reacation

B. zero order reaction

C. second order reaction

D. Fractional order reaction

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_IYJKn80A7G9m
https://dl.doubtnut.com/l/_ip2NtF6sera8


14. For a zero order reaction :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

t1 / 2 ∝ a

t1 / 2 ∝ t/a

t1 / 2 ∝ a2

t1 / 2 ∝ 1/a2

15. If the concentration is expressed in moles per liter, the unit of the

rate constant for a first-order reaction is

A. 

B. 

C. 

molL− 1 sec− 1

sec− 1

MolL− 1

https://dl.doubtnut.com/l/_HQSfnG6HieMJ
https://dl.doubtnut.com/l/_L4BjrMcMANNH


D. 

Answer: B

Watch Video Solution

mol− 1

16. Which one of the following formula represents a first-order

reaction?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

k = log10

2.303

t

[A]t

[A]0

k = .
1

t

x

a(a − x)

k = log10

2.303

t

a

A − x

k = log10

2.303

t

a

x

https://dl.doubtnut.com/l/_L4BjrMcMANNH
https://dl.doubtnut.com/l/_ZJvjVdUpsMty
https://dl.doubtnut.com/l/_ZwITZGr2nmma


17. Which of the following is correct plot for effect of catalyst on

activation energy.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ZwITZGr2nmma


18. The specific rate constant of a first order reaction depends on the

A. concentration of the reactants

B. concentration of the products

C. time

D. temperature

Answer:

Watch Video Solution

19. The inversion of cane sugar is represented by 

 


It is a reaction of

A. second order

C12H22O11 + H2O → C6H12O6 + C6H12O6

https://dl.doubtnut.com/l/_ZwITZGr2nmma
https://dl.doubtnut.com/l/_yygBC43HkYjh
https://dl.doubtnut.com/l/_aSFzBOjlGIWS


B. unimolcular

C. pseudo unimolecular

D. zero order

Answer: C

Watch Video Solution

20. Which of the following statement regarding the molecularity of a

reaction is wrong ?

A. It may be either shole number of fracctional

B. it is calculated from the reaction mechanism

C. it depends on the rate determining step

D. it is number of molecules of reactants taking part in a single

step chemical reaction

https://dl.doubtnut.com/l/_aSFzBOjlGIWS
https://dl.doubtnut.com/l/_pieg2nklpUy4


Answer: A

Watch Video Solution

21. Molecularity of the reaction :

A. is always a whole number

B. is never a whole number

C. can have a fractional value

D. can be zero

Answer: A

Watch Video Solution

22. A plot of log (a-x) against time 't' is a straight line. This indicates

that the reaction is of :

https://dl.doubtnut.com/l/_pieg2nklpUy4
https://dl.doubtnut.com/l/_y4rQoHHFUdWi
https://dl.doubtnut.com/l/_wicnvJd5s198


A. zero order

B. first order

C. second order

D. third order

Answer: B

Watch Video Solution

23. If initial concentration is doubled, the time for half-reaction is also

doubled, the order of reaction is

A. zero

B. first

C. second

D. third

https://dl.doubtnut.com/l/_wicnvJd5s198
https://dl.doubtnut.com/l/_D4XdL8wSRzT6


Answer: A

Watch Video Solution

24. In pseudo-unimolecular reactions :

A. one of the reactants is present in large excess

B. both the reactants have same concentration

C. both the reactants are present in low concentration

D. one of the reactants is less reactive

Answer: A

Watch Video Solution

25. The rate of the reaction 

 is given by Rate CCl3CHO + NO → CHC3 + NO + CO

https://dl.doubtnut.com/l/_D4XdL8wSRzT6
https://dl.doubtnut.com/l/_sM3h08Pel9dp
https://dl.doubtnut.com/l/_PW2rEXvexQHD


. If concentration is expressed in moles litre,

the units of  are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= K[CCl3CHO][NO] /

K

Mol2L2S − 1

molL− 1s− 1

Lmol− 1S − 1

S − 1

26. The rate of reaction can be increased in general by all the

following factors except

A. by increasing the temperature

B. using a suitable catalyst

C. by increasing the concentration of reactants

https://dl.doubtnut.com/l/_PW2rEXvexQHD
https://dl.doubtnut.com/l/_cWPMI8sxfN0W


D. by an increase in activation energy

Answer: D

Watch Video Solution

27. Radioactive disintegration is a  order reaction.

A. zero order reaction

B. first order reacation

C. second order reaction

D. third order reaction

Answer: B

Watch Video Solution

……………….

https://dl.doubtnut.com/l/_cWPMI8sxfN0W
https://dl.doubtnut.com/l/_k7tamDjvpmFv


28. The overall rate of a reaction is governed by :

A. the rate of the fastest is governed by

B. the rate of the slowest intermediate step

C. the sum total of the rates of all the intermediate steps

D. the average of the rates of all the intermidiates steps

Answer: B

Watch Video Solution

29. The rate constant of a reaction does not depend upon:

A. temperature

B. activation energy

C. calalyst

D. concentration of reactants and products

https://dl.doubtnut.com/l/_CqssVgd7depQ
https://dl.doubtnut.com/l/_6sjZStCY0Mva


Answer: D

Watch Video Solution

30. For first order reaction, the half life is independent of :

A. initial concentration

B. cube root of initial concentration

C. first power of initial concentration

D. square root of final concentration

Answer: A

Watch Video Solution

31. Unit of rate of reaction is

https://dl.doubtnut.com/l/_6sjZStCY0Mva
https://dl.doubtnut.com/l/_At8hULE3R7Kx
https://dl.doubtnut.com/l/_gOdtIjdmmEtV


A. 

B. 

C. time

D. 

Answer: A

Watch Video Solution

moldm− 3time− 1

mol− 1dm3time− 1

moldm− 3

mol− 1dm− 1time− 1

32. Half life  of first order reaction is

A. dependent of concentration

B. independent of concentration

C. dependent of time

D. dependent of molecularity

Answer: B

(t )1

2

https://dl.doubtnut.com/l/_gOdtIjdmmEtV
https://dl.doubtnut.com/l/_o76IOCNFS5xh


Watch Video Solution

33. Unit of first order rate constant is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

moldm− 3time− 1

dm− 3mol− 1time− 1

time− 1

mol, dm3, time− 1

34. order of reaction is

A. never zero

B. never fractional

https://dl.doubtnut.com/l/_o76IOCNFS5xh
https://dl.doubtnut.com/l/_l1iTNH5z2t7j
https://dl.doubtnut.com/l/_5z8y0BBDdhdQ


C. always equal to number of molecules taking part in reaction

D. an experimentally determined quantity

Answer: D

Watch Video Solution

35. Rate constant does not depend upon unit of concentration for

reaction whose order is

A. zero

B. first

C. fractional

D. infinite

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_5z8y0BBDdhdQ
https://dl.doubtnut.com/l/_59DIlh8y0ImK


36. The rate of a chemical reaction can be expressed in terms of

A. rate of consumption of catalyst

B. rate of consumption of reactants only

C. rate of consumption of reactants and formation of products

both

D. rate of formation of products only

Answer: C

Watch Video Solution

37. Unit of rate of a reaction is

A. 

B. 

C. 

Lmol− 1t− 1

moldm− 3t− 1

Ms

https://dl.doubtnut.com/l/_WCydKcm7iGi5
https://dl.doubtnut.com/l/_XCcTzPkLgQSu


D. 

Answer: B

Watch Video Solution

M − 1S − 1

38. In the reaction  the rate of formation of C is

A. the same as rate of concentration of A

B. the same as the rate consumption of B

C. twice the rate of consumption of A

D. 3/2 times the rate of consumption of B

Answer: C

Watch Video Solution

A + 3B → 2C,

https://dl.doubtnut.com/l/_XCcTzPkLgQSu
https://dl.doubtnut.com/l/_B9gPGMWYopK0


39. The instantaneous rate of reaction  is given by

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2A + B → C + 3D

dA

dt

1

2

d[A]

dt

d[B]

dt

1

3

d[D]

dt

40. A reaction of first order with respect to reactant A and second

order with respect to reactant B. the rate law for the reaction is given

by

A. 

B. Rate 

Rate = k[A][B]2

= [A][B]2

https://dl.doubtnut.com/l/_d5WkYuzUg7LN
https://dl.doubtnut.com/l/_coUblveIYRZV


C. Rate 

D. Rate 

Answer: A

Watch Video Solution

= [A]2[B]

= k[A]0[B]2

41. Molecularity of an elementary reaction

A. may be zero

B. is always integral

C. may be semi - integral

D. may be integral fractional or zero

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_coUblveIYRZV
https://dl.doubtnut.com/l/_VfHfJQGPhDDW
https://dl.doubtnut.com/l/_mUqe9KRhkwJz


42. The unit of rate constant for first order reaction is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

min − 2

s

s− 1

min

43. the integrated rate equation for first order reaction 

products is given by

A. 

B. 

C. 

A →

l = ln
2.303

t

[A0]

[At]

k = − ln
1

t

[At]

[A0]

k = log10

2.303

t

[At]

[A0]

https://dl.doubtnut.com/l/_mUqe9KRhkwJz
https://dl.doubtnut.com/l/_2rcmY0nhS4Aq


D. 

Answer: B

Watch Video Solution

k = ln
1

t

[At]

[A0]

44. The half life of a first order reaction is 30 min and the initial

concentration of the reactant is 0.1 M . If the initial concentration of

reactant is doubled ,then the half life of the reaction will be

A. 1800S

B. 60 min

C. 15 min

D. 900s

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_2rcmY0nhS4Aq
https://dl.doubtnut.com/l/_YqLopnZqz3UM


45. The slope of the straight line obtained by plotting rate versus

concentration of reactant in a first order reaction is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−k

−k

2.303

k

2.303

k

46. The rate expression for a reaction is 

Rate  


unit for rate constant K is

A. 

= K[A][B]2

moldm− 3 sec− 1

https://dl.doubtnut.com/l/_vf9s6pDjToWQ
https://dl.doubtnut.com/l/_rrpAWWlMt54z


B. 

C. 

D. 

Answer: B

Watch Video Solution

(dm3mol− 1)
2

sec− 1

(dm3mol− 1 sec− 1)
2

dm3mol− 1 sec− 1

47. For the reaction , the concentration of the reactant was reduced

from 0.1 M to 0.05 M in 6 hrs . And from 0.05 M to 0.025 in 12 hrs. the

order of reaction is

A. zero

B. first

C. second

D. third

https://dl.doubtnut.com/l/_rrpAWWlMt54z
https://dl.doubtnut.com/l/_Hr5B4IvunAsP


Answer: B

View Text Solution

48. the velocity of a reaction with molar concentration of each of the

reactants is unity is called

A. Rate constant

B. specific reaction rate

C. Rate of reaction

D. Both (a) and (b)

Answer: D

Watch Video Solution

49. The unit of rate constant and rate of a reaction are same for

https://dl.doubtnut.com/l/_Hr5B4IvunAsP
https://dl.doubtnut.com/l/_P6mLaGcaRR5L
https://dl.doubtnut.com/l/_UFBHhEwovZsK


A. zero order

B. first order

C. second order

D. none of these

Answer: A

Watch Video Solution

50. The activation energy of a reaction can be determined by

A. Changing concentration of reactants

B. knowing rate constant at two different temperature

C. knowing rate at 298 K

D. knowing concentration of reactants at 298 K

Answer: B

https://dl.doubtnut.com/l/_UFBHhEwovZsK
https://dl.doubtnut.com/l/_iKFaYRJENaqj


Watch Video Solution

https://dl.doubtnut.com/l/_iKFaYRJENaqj

